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HaiiguTe KOpeHb YpaBHEHHSA

: VO0-x =7.

: V-9+9x = 3.
: V60 +5x =5.
: J44+x = 6.

: J13-2x =5.
: 50 -2x =8,
: V=32 +4x = 2.
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Hanaure KkopeHb YpaBHEHUA: \/3_1_+_QJE =2.
Hanagure kopeHb ypaBHEHUA: J-8+Tx =2.
Haiigure KopeHb YpaBHEHUA . J49 +4x =9.
HaiiguTe KopeHb YpaBHEHUA: J69 —4x = 9.
Hanaure KopeHb ypaBHEHUA: J44 - 5x = 3.
HailinuTte KOpeHb YpaBHEHUS: J27-x=5.
HaiignTe KopeHb YypaBHEHU . J41-8x =9.
HaiinuTe KopeHb YPDABHEHU ST ! J68 —8x = 6.
Haiagure KopeHb YypaBHEeHUA: \/3_21_.; =39.
Halinnre KopeHb YypaBHEHUS: J73 - 4x = 9.
HaiigunTe KopeHb YPaAaBHEHU ! J-28 +4x = 2.
HaiigunTe KopeHb YPABHEHU . J-63 +8x = 3.
Halinnre KopeHb ypaBHEHU: J37-4x =3.
Hanagure kopeHb YypaBHEHUA: J22 - 2x = 2.
Hanagure KkopeHb YypaBHeHUA: \/—2_6—:.; =9.
HaiiguTe KopeHb YPABHEHU ! J88 +7x =9.
Halinute KopeHb YypaBHEHUS: J18 +9x = 6.
HailignTe KopeHb YPABHEHUS: J-27-Tx = 6.
HalinuTe KopeHb YypaBHEHU . V100 -9x = 8.
Héﬁnm‘e KOpeHb YPAaBHEHUA: J34-6x = 8.
Hanaure kopeHb ypaBHEHHU S : m =9.
HaiigunTe KopeHb YPABHEHU ! J60 +8x =6.
HaiignTe KopeHb YPABHEHMU . V20 —4x = 2.
Hanagure KkopeHb YpaBHEHHUA: J-T-4x =5.
Haiaure KopeHb YypaBHEHUA: J85+2x = 9.





